
1) Share 6 in the ratio 1:5

Answer: ____________

2) 25 x 1000

Answer: ____________

3) 62 x 18 + 17

Answer: ____________

4) 41 x 51

Answer: ____________

5) (3 x 63) - (7 x 14)

Answer: ____________

6) 4 x 83

Answer: ____________

7) 9 x 1 ÷ 11 + 9

Answer: ____________

8) (1 x 78) x (6 x 1-4)

Answer: ____________

9) (7 x 76) x (7 x 42)

Answer: ____________

10) 16 ÷ 16

Answer: ____________

11) Share 18 in the ratio 2:7

Answer: ____________

12) A number was shared in the ratio 
19:3. The smaller share was 36. 
What was the total amount shared?

Answer: ____________

13) 122 - 9 x 5

Answer: ____________

14) A number was shared in the ratio 
3:12. The smaller share was 9. What 
was the larger amount?

Answer: ____________

15) 6000 ÷ 1000

Answer: ____________
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16) 280 ÷ 14

Answer: ____________

17) 142 + 16 x 9

Answer: ____________

18) 28 ÷ 2

Answer: ____________

19) Share 11 in the ratio 5:6

Answer: ____________

20) 83 x 3

Answer: ____________

Total: ___ / 20

Copyright 2021 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

November 04, 2021

Sr: 04112021-2421

 

http://www.geekschool.co.uk


Answers:

1) 1 : 5 2) 25000 3) 4) 2091 5) 641 6) 332 7)

8) 34588806 9) 92236816 10) 1 11) 2 : 16 12) 264 13) 14) 36

15) 6 16) 20 17) 18) 14 19) 1 : 10 20) 249
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